(3) LA F LA NREDRTRE
- REBASHER

H R M B RED RE D1 EFREEH RE D1 EFRFEEH BRE®D RO

s, = = 2 }%i‘%

JL“F 3 = 3 == S 4 . [=F-=3=) P

o WO AR & Al E Al E 1B REED 0.06ppmZFBZ 1= 0.12ppml ED 1EEREED 1S RIED gﬁ wies |
L BM | FEmE B LHE B LHE sEm | TR | g
5
(H) (BFFED) (ppm) (8) (BFFED) (H) (FFFE) (ppm) (ppm)

RIRAF AEHERER [EHEXER #£T 365 5400 0.028 71 292 0 0 0.103 0044 | x [@) *
N ABRAER  [LIEX&ERT [E 352 5228 0.028 94 417 2 2 0.128 0047 | x (e} *
KB KEHTEEIIR PR * 365 5430 0.032 111 542 0 0 0.118 0.051 x (e} *
KB KErmNRE  [EINX &R [i&] 357 5267 0.031 97 483 1 1 0.127 0.049 X (e} *
N ABRHTEHFR (Bl *F 365 5435 0.035 127 712 2 3 0.127 0.054 | x @) *
PN H KBRTAERX REhFR [E3 365 5437 0.031 95 402 3 4 0.131 0.049 X O *
KRR T AERAHERERR  |EB/NER % 365 5441 0.034 17 622 0 0 0.119 0053 | X (0] *
KB KERFEZIR [[FILNER * 365 5442 0.031 112 519 2 3 0.133 0.051 X (e} *
KB KEFEHFR |[EBDER * 336 4991 0.033 103 558 1 1 0.126 0.053 X (o) *
PNl ABEHTERR [SEDER 2] 365 5442 0.028 87 375 0 0 0.112 0.047 X 6] *
PN PN ¥BIT/NEAR 5] 323 4791 0.030 91 388 0 0 0.111 0049 x [@) *
KB AEFERX [XAL/DMER F 365 5440 0.034 120 658 2 3 0.129 0054 | x e) *
KB KERARERR  ([#RPER £ 340 5054 0.030 94 415 0 0 0.114 0.049 X 0] *
K KEFEZIR (FEhRAE #£T 358 5325 0.025 79 281 1 1 0.129 0.045 X (e} *
kil RATIRX DIF * 338 4994 0.026 65 226 0 0 0.110 0.041 X 6] *
R R X EF 53 365 5410 0.031 92 430 2 4 0.128 0049 x O *
SR IR X aiE * 365 5385 0.028 80 342 1 1 0.126 0.046 X (e} *
SR T RmdLX <[ £ 339 5010 0.030 95 395 0 0 0.104 0.047 X (e} *
R RATR X =% % 365 5398 0.026 68 242 0 0 0.116 0043 | x (e} *
kil R X ER N # 365 5406 0.035 123 679 3 7 0.139 0054 | x e} *
A WHEX ExR [E3 365 5417 0.035 124 692 2 4 0.133 0.054 X O *
SR RmARX R £ 365 5407 0.034 127 640 1 3 0.130 0.053 X (e} *
iR BHERX EJ * 365 5404 0.031 110 534 1 4 0.126 0.051 X *
KRR AT Zil=hT FHAGRAR * 365 5412 0.032 96 488 2 6 0.132 0049 | x (e} *
Lo 2o TR £T 363 5420 0.028 61 272 0 0 0.097 0.043 X 0] *
R B F AT AT R SR [E3 363 5353 0.037 90 482 1 1 0.122 0.051 X O *
&) YT W A T 2 K 5] 365 5462 0.031 92 478 0 0 0.116 0048 | x (e} *
742N YT WwHEMALEEE [E 365 5457 0.034 106 575 2 2 0.128 0.053 X (e} *
WA Vd:=: 7] wEI 1* 365 5422 0.030 61 292 0 0 0.108 0.044 X (e}
KRR AF RAEM RAFETRAT UF) 2T 269 3981 0.032 86 434 2 3 0.122 0.052 | x e} *
=T =T EHE [E3 365 5413 0.033 97 499 0 0 0.113 0050 | X O *
=t =T =t % 365 5426 0.033 89 474 0 0 0.110 0050 | X O *
K BR AT BHiFgm BIgmEKE *F 362 5357 0.033 98 521 3 4 0.145 0.050 X (0] *
PN SFOm SEORERT i) 365 5390 0.029 68 273 0 0 0.113 0.044 X (e} *
SFOTH SFOH E—HIER(EH) * 364 5335 0.026 51 210 0 0 0.091 0.040 X o
SFOT FOm FAERKA) ET 365 5366 0.026 54 218 0 0 0.093 0040 [ X [@)
<O SFOmM FZAER ) #£T 365 5368 0.026 49 201 0 0 0.103 0.040 X (e}
AT WA e L5 361 5302 0.029 74 342 0 0 0.103 0.045 x 0] *
Lokl wAM WA =] 365 5396 0.031 91 450 0 0 0.113 0048 | x (e} *
AT WAH FCAR * 365 5407 0.028 81 366 0 0 0.109 0.045| X @) *
WA wA™ = [E3 365 5387 0.030 77 344 0 0 0.104 0.046 X (e}
KIRAF KA FKATRET =] 365 5411 0.027 65 255 0 0 0.108 0.043 x (0] *
J\E NE™M INERERT 2] 365 5378 0.031 96 449 0 0 0.118 0.047 X O
KRR AT RIEFHH {EBF AR * 364 5383 0.033 92 490 0 0 0.119 0049 [ x 0] *
| RO AT ==k N EBRRTRE & 365 5408 0.035 122 686 1 3 0.141 0054 x 0 *
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RIRAF BEI™ BEIITH&A & 365 5405 0.031 90 466 0 0 0.114 0.048 X [e) *
BEEBIH |EBN® R [E 365 5446 0.031 83 422 0 0 0.104 0.048 X (e} *
KR AT ANERFT =EHARE % 365 5408 0.036 130 786 1 3 0.167 0056 | x 0] *
MR R REEER * 365 5407 0.029 85 329 0 0 0.117 0047 | x (e} *
KRR AT AETH REFHEET *F 365 5411 0.032 99 481 0 0 0.109 0.050 X e} *
KIRAF IR T 7 BEINERR [E3 365 5414 0.035 111 601 3 9 0.141 0052 x O *
KB AF AR T LB ES 361 5315 0.034 109 572 2 4 0.138 0052 | x (e} *
HaET R R [z 336 4934 0.021 14 50 0 0 0.100 0.032 X 0]
PAE™ PEM PAEM&AT £ 363 5375 0.030 86 382 0 0 0.111 0.047 X (e} *
PAE PET PAE TR * 365 5426 0.029 84 374 0 0 0.113 0046 | X e} *
KBRAF =a™ =APER [E3 360 5287 0.032 99 502 1 1 0.124 0050 [ x O *
=A™ maT = A HBAE S AR B ARAT [E 365 5353 0.024 30 81 0 0 0.088 0.039 X
RIRAF BHFT BEFFTHRA £ 362 5342 0.031 105 554 1 2 0.127 0.051 X (e} *
BHFm  |EHEAFT ERAF R/NER % 365 5449 0.032 109 607 1 2 0.125 0052 | x (e} *
E SN E VNl RARTAEREL 22— i) 365 5358 0.029 74 297 0 0 0.102 0045 | X @)
EPNUTHN EPNITH RARTIERT TS & 365 5362 0.034 97 527 0 0 0.107 0.050 X O
KIRAF REh RET&RT 1F 365 5409 0.032 81 430 1 1 0.132 0.048 X (e} *
XHm XEH RE &R £ 365 5415 0.034 115 641 2 3 0.124 0052 | x (e} *
NI BrEE T EEE % 365 5409 0.037 107 586 0 0 0.109 0052 | x (e} *
KBRFF SHET SENEE ] =* 365 5413 0.029 96 440 0 0 0.107 0.049 X @) *
e B BT REERET REERET %15 1F 365 5424 0.033 94 493 1 1 0.121 0.049 X [e) *
ABRAF  JURET MR T {242 () & 120 1769 0.037 51 223 0 0 0.085 0.054 | X *
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ELT EL Eh&RT 5] 362 5408 0.026 54 201 0 0 0.102 0.040 x *
L Ehr FE &) 365 5444 0.027 61 201 0 0 0.100 0.043 x *
RABRT R RARHRGRERE L2 B 365 5392 0.029 99 557 ] 3 0.139 0049 | X o) *
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